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Question Bank 
 

ঐচ্ছিক পাঠক্রম ( Elective Course ) 
পদার্থচ্ছিদযা ( Physics ) 

ত্রয় াদশ ও  চতুদথ শ পত্র ( 13th & 14th Paper ) 

Atomic, Molecular & Nuclear Physics : EPH - 13&14 

 

1. The closest distance of approach of two protons each having kinetic energy 

1.9 keV when they move towards each other is ................... 

 দটুি 1.9 keV গতিশতি সম্পন্ন ফ োটন যখন একে অপকেে তদকে অগ্রসে হয় িখন 
ফরোটকনে মকযে তনেটিম দেূত্ব হয় ................... 

2. What are the expected types of gamma-ray transition between the following 

states of odd A nuclei- 

 (i)     9/2+ to 1/2- 

 (ii)   11/2- to 3/2+ 

 তিক োড় তনউতিয়সগুতি তনম্নতিতখি অিস্থোে মকযে গোমো-ফে সংক্রমকেে রিেোতশি রেোেগুতি 
েী েী ? 

 (i)    9/2+ to 1/2- 

 (ii)   11/2- to 3/2+ 

3. Given that the ionization potential of hydrogen is 13.6 eV, that of positronium 

which is a composite state made of one electron and one positron is .................. 

 হোইকরোক কনে আয়নীেেকেে তিভি 13.6eV, পত করোতনয়োম যো এেটি ইকিক্ট্রন এিং এেটি 
পত রন তদকয় গঠিি এটি েি হকি ? 

4. In the hydrogen atom spectrum the ratio of the energy for the transition  

“n = 2 →n = 1” to that of “n = 3 →n = 1” is .................... 

 হোইকরোক ন পেমোেু িেণোিীকি “n = 2 →n = 1” এে “n = 3 →n = 1” এে সংক্রমকেে  নে 
শতিে অনুপোি হ'ি .................... 
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5. Given that the binding energy per nucleon of an - particle is 7 MeV, and that the 

proton mass is 938 MeV/ c2 and the neutron mass is 939 MeV/c2, the mass of 

the - particle is ................... 

 রদত্ত ফয এেটি - েেোে তনউতিয়ন রতি িোাঁযোই শতি 7 MeV এিং ফরোটন ভে   

938 MeV/ c2 এিং তনউরন ভে 939 MeV/ c2 হয়, িকি -েেোে ভে হি ................... 

6. At room temperature KBT/e = 26 mV, a sample of cadmium sulphide displays a 

mobile carrier density of 1016 cm-3 and a mobility coefficient  µ = 102 cm2 volt-1 s-1. 

The electrical conductivity (σ) of the sample is .................. 

 েক্ষ িোপমোত্রোয় KBT/e = 26 mV, েেোডতময়োম সোি োইকডে এেটি নমুনো এে 1016 cm-3 

ফমোিোইি েেোতেয়োে ঘনত্ব এিং ইহোে গতিশীিিো সহগ µ = 102 cm2 volt-1 s--1 রদশণন েকে। 
নমুনোে বিদেুতিে পতেিোতহিো (σ) হ'ি .................. 

7. In Raman effect .................. 

 েমন তক্রয়োকি .................. 

8. The number of fission per second of 238U nuclei in a 100-MW reactor is (Given: 

average energy released per fission of 238U  is 200 MeV) .......................... 

 100-ফমগোওয়োট চুল্লীকি 238U তনউতিয়োকসে রতি ফসকেকে তিভো কনে সংখেো হয়  ( রদত্ত: 

238U এে তিভো কন তনগণি গড় শতি 200 MeV) .......................... 

9. The ground state spin-parity (JP) of 𝐶6
13  and 𝐾19

39  nucleus as predicted by nuclear 

shell model are ..................... 

 পোেমোেতিে ফশি মকডি দ্বোেো পূিণোভোস অনুযোয়ী 𝐶6
13  এিং 𝐾19

39  তনউতিয়োকসে গ্রোউে 
ফেট তিন-পেোতেটি (JP)  হকি ..................... 

10. If hydrogen atom is bombarded by energetic electrons, it will emit ................... 

 হোইকরোক ন পেমোেু যতদ এনোক ণ টিে ইকিক্ট্রন দ্বোেো ফিোমোির্ণে েেো হয় িকি িো তনগণি 
েকে ................... 

11. Which of the following crystal structures is defined incorrectly ? 

 তনম্নতিতখি ফেোন ফেিোস েোঠোকমোটি ভুি সংজ্ঞো ফদওয়ো হকয়কে ? 

12. Coordination number which is the number of nearest neighboring lattice points in 

a body centered cubic (bcc) crystal is ................. 



3 

 সমতিি নম্বে যো ফেোনও ফদহ ফেতিে ঘনে (তিতসতস) স্ফটিকেে তনেটিম রতিকিশী  োি 
পকয়ন্টগুতিে সংখেো হি ................. 

13. If L is the or bital angular momentum quantum number, M L its projection and J 

the total angular momentum  quantum number J = L + S then the correct 

selection rule for an allowed electric dipole transition is ................... 

 যতদ L েক্ষ পকেে ফেৌতেে গতিকিকগে ফেোয়োন্টোম সংখেো হয় এিং M L িোে রক েশন 
এিং J ফমোট ফেৌতেে গতিকিকগে ফেোয়োন্টোম সংখেো J = L+S হয়, িকি অনুকমোতদি 
বিদেুতিে তদ্বপদী স্থোনোন্তকেে  নে সঠিে তনিণোচকনে তনয়ম হি ................... 

14. 238U decays with a half life of 4.51 × 109 years, the decay series eventually ending 

at 206Pb, which is stable. A rock sample analysis shows that the ratio of the 

numbers of atoms of 206Pb to 238U is 0.0058. Assuming that all the 206Pb has been 

produced by the decay of 238U and that all other half-lives in the chain are 

negligible, the age of the rock sample is .................. 

 238U 4.51 × 109 িেকেে অকযণে  ীিন তনকয় ক্ষয় হয়, অিকশকর্ ক্ষকয়ে যোেো 206Pb এ ফশর্ 

হয় যো তস্থতিশীি। এেটি বশি নমুনো তিকের্ে ফদখোয় ফয 206Pb-এে পেমোেুে সংখেোে 

এিং 238U-এে অনুপোি 0.0058। যকে তনই ফয সমস্ত 206Pb, 238U-এে ক্ষয় দ্বোেো 
উৎপোতদি হকয়কে এিং এই শৃঙ্খকি েোেো সমস্ত অযণ- ীিন উকপতক্ষি হকি, বশকিে নমুনোে 
িয়স েি ? 

15.  

 Figure describes ............ 

 তচত্রটি ফেোন ঘটনো রেোশ েকে ? 


